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Table 3.7 State Death Penalty Executions, 2000–2009, Cumulative

Number of Executions

X

Number of States

fx Cumulative Number of States Cases

    1 6 6 1–6

    2 2 2 + 6 = 8 7–8

    4 3 3 + 8 = 11 9–11

    6 4 4 + 11 = 15 12–15

  13 1 1 + 15 = 16 16

  16 1 1 + 16 = 17 17

  23 1 1 + 17 = 18 18

  24 1 1 + 18 = 19 19

  25 1 1 + 19 = 20 20

  26 1 1 + 20 = 21 21

  28 1 1 + 21 = 22 22

  32 2 2 + 22 = 24 23–24

  72 1 1 + 24 = 25 25

248 1 1 + 25 = 26 26

Σfx = N = 26

Source: Halperin, Rick, “Death Penalty News and Updates.” January 27, 2012. http://people.smu.edu/rhalperi/.

one execution. In the second row, we add that six to the two states who executed two 
inmates to get eight states that executed one or two inmates. For each row we add the 
states from that row to the cumulative total from the prior row. That cumulative number 
allows us to determine which cases had each value of our variable. The first row has the 
first case through its cumulative number. The second row begins with the next case and 
ends with its cumulative number, and so on. For Table 3.7, cases 1 through 6 occur in 
the first row; 7 through 8, in the second; 9 through 11, the third; and so on. Once you’ve 
identified which cases occur in which rows, it is easy enough to find the row that con-
tains the middle case. On that row, you look over to the left-hand column to find the 
value of X. So both the thirteenth and the fourteenth cases had six executions. The 
median number of executions is six for the states that executed anyone between 2000 
and 2009. Because it doesn’t give undue weight to the outlier Texas, the median of 6 is 
much more reflective of the central tendency of this table than the mean of 22.58 we 
found earlier.

The median has the added advantage of being useful for ordinal-level data. For ordinal-
level data, the mean is nonsensical because it assumes that the data are on a uniform scale. 
The execution rates we’ve been using are interval because they have order (the higher the 
number, the more executions) and a uniform scale (each number higher is precisely one 


